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00 $m=\Ifloor\frac{an+b}{c}\rfloor$1$g_{t}(x)=(x+1)"{t}-
x™M{t}=\sum {i=0}"{t-1}g_{ti}x~{i}$0$h_{t}(x)=\sum {i=1}~{x}i~{t}=\sum {i=0}"{t+1}h_{ti
Ix~{iys0

00oo0O00O0ooon
e 0 $t {2}=0$000 00O

$$ \begin{aligned} 0 O &=\sum {i=0}"~{n}i~{t {1}}\ &=h_{t {1}}(n)+[t {1}=0]\end{aligned}
$$

e 0 $m=0$]0 00000
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e 0 $a=0$00 00O

$$ \begin{aligned} O O &=\sum_{i=0}"~{n}i~{t {1} }\Ifloor\frac{b}{c}H\rfloor™{t {2} }\
&=\Ifloor\frac{b}{c}\rfloor™~{t {2} }(h_{t {1}}(n)+[t {1}=0]) \end{aligned} $$

e [1 $a\gec$ O $b\gecsg oo

$$ \begin{aligned} O

0 &=\sum_{i=0}"~{n}i~{t {1} }(\Ifloon\frac{(a\%c)i+(b\%c)} {c}\rfloor+\Ifloor\frac{a}{c}\rfloor
i+\Ifloor\frac{b}{c}\rfloor)™ {t_{2}}\

&=\sum {i=0}"{n}i~{t {1}}\sum {u {1}+u {2}+u {3}=t {2}}{t {2}\choose

u {1},u_{2},u_{3}}(\Ifloon\frac{(a\%c)i+(b\%c)}{c}\rfloor)”™{u_{1}}(\Ifloor\frac{a}{c}\rfloor

)™ {u_{2}}(\Ifloor\frac{b}{c}\rfloor)”™{u_{3}}\

&=\sum_{u {1}+u {2}+u {3}=t {2}}{t {2}\choose

u {1},u {2},u_{3}}(\Ifloor\frac{a}{c}\rfloor)”~ {u_{2} }(\Ifloor\frac{b}{c}\rfloor)~{u_{3}}\sum_ {i=0
P {n}i~{t {1}+u_{2} }(\Ifloor\frac{(a\%c)i+(b\%c)} {cHrfloor)~{u_{1} }\

&=\sum_{u {1}+u {2}+u_{3}=t {2} }{t {2}\choose

u {1},u {2},u_{3}}(\Ifloor\frac{a}{c}\rfloor)”™{u_{2}}(\Ifloor\frac{b}{c}\rfloor)” {u_{3} }f(a\%c,b\%
cent {1}+u {2},u {1})\end{aligned} $$

00000000 $0\e ab<c$ OO 0O[$$ \begin{aligned} O

0 &=\sum_{i=0}~{n}i~{t_ {1} H\sum {j=1}"~{m}g_{t {2} }(-1)[j\le\Ifloor\frac{ai+b}{c}\rfloor]\\
&=\sum {i=0}"~{n}i~{t {1} }\sum {j=0}"{m-1}g {t {2}}(j)[j+1\le\Ifloor\frac{ai+b} {c}\rfloor]\\
&=\sum_{j=0}"{m-1}g {t {2} }()\sum_{i=0}"~{n}i~{t {1} }[cj+c-b\le ai] \end{aligned} $$ 0 O O
00 0[0%i=0% O $cj+c-b\ge c-b>0\ge ai$[]0 $cj+c-b\leais OO0 O OO 0O O[] $$ \begin{aligned} O
O &=\sum_{j=0}"{m-1}g_{t_{2}}(\sum_{i=1}"{n}i~{t_{1}}cj+c-b\le ai]\
&=\sum_{j=0}"{m-1}g_{t_{2}}(jN\sum_{i=1}"~{n}i~{t_{1}}cj+c-b-1<ai]\

&=\sum {j=0}"{m-1}g_ {t {2}}(0\sum _{i=1}~{n}i~{t {1} }(1-[cj+c-b-1\ge ai])\\
&=m~{t_{2}}h_{t_{1}}(n

\sum_{j=0}"{m-1}g {t_ {2}}()\sum {i=1}~{n}i~{t_{1}}i\le\ifloor\frac{cj+c-b-1} {a}\rfloor]
\end{aligned} $$

000000 $\Ifloor\frac{cj+c-b-1}{a}\rfloor\le n$[] $$ \begin{aligned} \Ifloor\frac{cj+c-
b-1}{a}\rfloor&\le\lfloor\frac{c(m-1)+c-b-1}{a}\rfloor\\ &=\Ifloor\frac{mc-b-1} {a}\rfloor
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\end{aligned} $$ 0O O $\Ifloor\frac{mc-b-1}{a}\rfloor>n$[J0 O [J $$ \begin{aligned} mc-b-1&>na\\
na+b+1&<mc\\ \end{aligned} $$ O $\Ifloor\frac{na+b}{c}\rfloor=m$[J0 $na+b\ge mc$J0 O OO
$\Ifloonfrac{cj+c-b-1}{a}\rfloor\le n$[J0 O [J $$ \begin{aligned} O O &=m~{t {2} }h_{t {1}}(n)-
\sum_{j=0}"{m-1}g_{t {2} }(j)\sum_{i=1}"{\Ifloor\frac{cj+c-b-1}{a}\rfloor}i”~{t {1} }\
&=m~{t_{2}}h_{t_{1}}(n)-\sum_{j=0}"{m-1}g_{t_{2}}(j)h_{t_{1}}(\Ifloor\frac{cj+c-
b-1}{aHrfloor)\ &=m~{t_{2}}h_{t_{1}}(n)-
\sum_{j=0}"{m-1}(\sum_{u=0}"~{t_{2}-1}g_{t_{2}u}j~{u})\cdot(\sum_{v=0}"~{t_{1}+1}h_{t {1
}vHIfloor\frac{cj+c-b-1}{a}\rfloor™{v})\\ &=m~{t {2} }h {t {1} }(n)-

\sum_{u=0}"{t {2}-1}\sum_{v=0}"{t {1}+1}g {t {2}u}h {t {1}vHsum {j=0}"{m-1}j~{u\Iflo
on\frac{cj+c-b-1}{a}\rfloor™ {v}\ &=m~{t_{2}}h_{t_ {1} }(n)-

\sum _{u=0}"~{t {2}-1}\sum {v=0}"~{t {1}+1}g {t {2}u}h {t {1}v}f(c,c-b-1,a,m-1,u,v)
\end{aligned} $$ 00 $(a,c0)$ 00000000 $(c,a\%c)$l 0000000 ODOOODOOOO
$\mathcal{O}(\log\max\{a,c\}(t_{1}+t {2})"~{4})$0
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